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Exercise#1 [10 marks|. Answer the following statements as True or False.

L. (T ..) If A is singular and U is the row echelon form of A4, then U is singular.

[No]

. (.7Y-.) (AB)C = A(BC) for all matrices A, B, and C when multiplication is
allowed. :

3 [ F ...) If A and B are n X n matrices and A is nonsingular, then AB is singular.
4. ( T-) If A and B are n x n are nonsingular matrices, then BT A~ is nonsingular.
5. (F) If y and 2 are both solutions to Az = b, then y = z.

6. (..}..) IFATA=A, then A*= A,

7. (’T) If Ais an n x n matrix, then A — AT is skew-symmetric.

.......... ) If B is n X n nonsingular matrix, then AB = BA if and only if
AB™'=B714

oo
—

=

L sl f_) Let A be a 4 x 3 matrix. If b = a; + ag — a3, then the linear system Az =b
will have infinitely many solutions.

10. (...=.]...) If A and B are n x n are matrices with AB = O and A is nonsingular, then
B must equal zero matrix.

Good Luck
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Exercise#1 [10 marks|. Answer the following statements as True or False.

1. (F ..) If A is singular and U is the row echelon form of A, then U is nonsingular.

2. (.J7.) (AB)C = A(CB) for all matrices A, B, and C when multiplication is
allowed.
B Lo F) If A and B are n x n matrices and A is nonsingular, then AB is nonsingular.

4. (.7]...) If A and B are n x n are nonsingular matrices, then BT A~ is nonsingular.
5. (.7}....) If A is invertible and y, z are both solutions to Az = b, then ff = 2

(- fT) 1 ATA = A, then A2 =T

(o)

3

(..... F) If Ais an n X n matrix, then A + AT is skew-symmetric.

B

sia ] .... ) If B is n x n nonsingular matrix, then AB = BA if and only if
AB™1=B"14

=

(F) Let A be a 3 x 3 matrix. If b = a; + as — ag, then the linear system Az = b
will have infinitely many solutions.

10. ( T) If A and B are n X n are matrices with AB = O and A is nonsingular, then
B must equal zero matrix.

Good Luck



RSN

' Birzeit University
'Q" Mathematics Department
Math234-Section (5)
Quiz#2
Instructor: Dr. Ala Talahmeh First Semester 2022/2023
Time: 10 minutes Date: 5/12/2022
Name:.......oooooviiiiiiiiiii, Bramnbe to i

Exercise#1 [10 marks|. Answer the following statements as True or False.

L. (.....}....) I A and B are n X n are nonsingular matrices, then ABA™! is nonsingular.

2. (.. 7] If Ais a 4 x 4 invertible matrix, then AA” is both symmetric and
nonsingular.
3. (v (... ) Let A be a 3 x 4 matrix. If b= a; + ag — ag, then the linear system Az = b

will have infinitely many solutions.

4. (T) If Ais an nxn invertible matrix and k is any nonzero scalar, then (kA)~! =
k1AL,

5. (T) If A is an m x n matrix such that AAT = O, then A = O.

=

f s F) If A and B are any n X n symmetric matrices, then A(B — I) is
skew-symmetric.

7. (Lo F ..) If A and B are any n X n matrices such that AB = I, then A and B are
both singular.

By fusad F ..) If AB is equal to the identity matrix, then A must be invertible matrix.

-~ {) If Aisanm xn and B is a p X ¢ matrices such that AB = BA, then
n=pand m=q.

=

105 ifscnes E .... ) If Ais a 3 x 3 matrix and a; = ag, then (@, —«, 0) is a solution of the linear
system Az = 0, for every a € R.

Good Luck
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Exercise#£1 [10 marks]. Answer the following statements as True or False.

] [ F) If A and B are n X n are nonsingular matrices, then ABA™ is singular.

I F) If A is a 4 x 4 invertible matrix, then AAT is both symmetric and singular.

(T) Let A be a 3 x 4 matrix. If b = a; + az — a3, and a; = ag, then the linear

system Az = b will have infinitely many solutions.

&0

e~

[scnned F) If A is an n x n invertible matrix and k is any nonzero scalar, then (kA)™ =
kAL

5, (T) If A is an m x n matrix such that AAT = O, then A = O.

B (oo ) If A and B are any n X n symmetric matrices, then A(B — I) is also
symmetric.
7. (T) If A and B are any n X n matrices such that AB = I, then A and B are

both nonsingular.

(... F) If AB is equal to the identity matrix, then A must be singular matrix.

oo

: (T) If Ais an m x n and B is a p X ¢ matrices such that AB = BA, then

o

10. (..... F) If Ais a3 x 3 matrix and a; = ap, then (a,«,0) is a solution of the linear
system Az = 0, for every a € R.

Good Luck



